AP Calculus _
Unit 5 — Applications of the Derivative — Part 2

Day 6 Notes: More on Particle Motion
(Finding Net & Total Distance)

The graph below represents thhich is measured in meters per second, of a

particle moving along the x - axis:
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At what value(s) of ¢ does the particle havn the interval (0, 10)? Justify your
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Express the acceleration, a(f), as a piecewise-defined function on the interval (0, 10).
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For what value(s) of ¢ is the particle moving to the right? To the left? Justify your answer,
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Find thf the particle on the interval [1, 8], Show your work.
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If a particle is moving in the same direction the entire amount of time, what can be said about the
net distance and the total distance?

The NeF DISTen L = T TR Distante

To Find thg Net Distance A Particle Travels on an Interval
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To Find the@w Particle Travels on an Interval
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The position of a particle is given by the function p(t) = 2t° — 6t + 8¢ where p(H) is measured in
centimeters. Find the net and total distance the particle travels from = 1.5 seconds to ¢ = 4

seconds.
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The position of a partlcle is given by the function p(f) = e — 8t where p(t) is measured in feet.

Find the net and total distance the particle travels from ¢ = 0.5 minutes to ¢ = 1.5 minutes.
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The position of a particle is given by the function p(f) = ¢ + 2 sin r where p(f) is measured in fee
Find the net and total distance the particle travels from ¢ = % minutes to £ = %T’f minutes.
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